Telecentric Lens sz sl

APT & VS-TC Series

IR iRk

o SEEEZZTRAFHEMO.5x ~10.0x . WD40mm ~ 340mm
FEE R

o MRELEARERRS T RKESHE

[ Fud 0

AEAESHELAD A TITRIFRESRMEE. ERTEEMMFNRTIE, EBENE.
WRBIRREA/N, FZ TIRIERRISNT

—iiRsk Bfg iz RSk

.l

1Rk RS

EIVE, RBUERRERETIRAIIRN, HhERBTRIGRIMAISR RIBIAEMA—AER. WAL ESS HEIG R B S EE.
GRBTRITNT, ARFNANSAFRIOERT, GEOMESEN. BMEENBAERESRD, NTRLEBERIGRRATE,
HERTEES5RL.

B—H, GRETRIPOXNAE, EHEMEEIIMERINACSRRY, WIEEMARLAERE.

X, BAERE EREATOARRY, EELEEREMENEY. [GRETRISEART] HXmMER, KEEEE ARk,

BITRT j
TCT/TM
250Lp/mm
3u e 0 ) 166Lp/mm
o ¢ °
4u 125Lp/mm
TCM/ TCM/THV/TEV ° LTC
e TCH/
S5u TEC 100Lp/mm
°
6u 83Lp/mm
7u APT ® 71Lp/mm
TC
mERY 6mm 8mm 9mm 11Tmm 16mm 22mm 30mm
173" 1/211.8" 2/3" 1”1 4/3" 1.76"
® VGA 1-3M 4-6M ® oML E ® 20MLLE

FOEIT O ERTITIEIE kRS-

BAYRITOEL (FREEF 0-56x~6% T{EEE: 65mm/110mme
PR OEL ; NHEEEERMIEHNERT.

SR FEIm OGSk s TR RIER 1S R ETEE .

TR .67umIRTTHIE 53k ; BRIV RE LRGSR,
mOEREESL; EMERELRASRE . SNA,

A E RSk o

IFRLA " A I A Sk .

ZmbEk-e

HOURS

PEEE————
www.hours-web.com



Telecentric Lens

APT Series

APT Series

BWD:65mm
APT08-65 APT1-65
662 (WD) 80 17.526, 65. 92 (WD) 89 17.526,
6.5/4 6.54
3-M3 Set screw 3-M3 Set screw
°F °F
54 N | EE ) I DR | N | N 54 =2 ) N &
< S < S
© S S
© C-mount C-mount
163.5(0/D) - 172.4(0/) T
APT1.5-65 APT2-65
68.9:2.1(ID) 56.2 17.526 65. 42 (WD) 68.6 17.526
6.54 6.54
3-M3 Set screw — 3-M3 Set screw -
et 9
© = -3 =23
e e S M 1 e B S 4t 2
¢ =
G-mount G- t
142.60/1) 151.50/1) ot
APT4-65 APT08-65C 662 (WD) 80 17.526
6.5/4
64.5+£2 (WD) 68.4 17. 526, § N
6.5/4 o
3-M3 Set screw - § — i t—— _l_ B T 77*4{ %
bl i
= I o 3
[ R I Y PN
1
t
S M3 Set screw 8 C-mount
150.4(0/1) $14.2 3-M3 [Set screw
36.7 16
163.5(0/1)
APT1-65C APT1.5-65C
65. 922 (WD) 89 17.526 68.92. 1(WD) 56.2 17.526,
6.5,4 6.54
3-M3 Set screw — 3M3 Set screw =
oz 2 © e _l_ ot - — &
3 I - I Py RS RS
%ﬁ T T 1
? = o) :ﬁ: *
= . A < Y d i
| iy ! (C-mount
I t
M3 Set screw ‘ $8 (G-mount M3 Set screw @8
$14.2 $14.2
37 ¢16 19.2 16
172.4(0/1) 142.60/1)
APT2-65C APT4-65C
65. 42 (WD) 68.6 17. 526, 64. 52 (WD} 68.4 17.526
6.5/4 6.5/4
3-M3 Set screw - 3-M3 Set screw
°? o3 Y
=3 = © =
2 [ _ N I 2 J I | N | I
| _l_ R < <
| T
=Y = o) Ll
3 s T
0 C-mount
T C-mount
M3 Set screw $8 M3 Set screw $8
$14.2 $14.2
19.2 ¢16 19.4 16
161.5(0/1) 150. 4 (0/1)
APT08-65 APT1-65 APT1.5-65 APT4-65 APT08-65C APT1-65C APT1.5-65C APT2-65C APT4-65C
KFEE 0.8x * 5% 1.0x + 5% 1.5x + 5% 2.0x + 5% 4.0x * 5% 0.8x = 5% 1.0x * 5% 1.5x + 5% 2.0x + 5% 4.0x + 5%
2/3" — = - = 1.35x1.78 = — = - 1.35x 1.78
w5 1/1.8" 6.6 8.8 5.28 x 7.04 2,64 x3.52 2.64x3.52 1.78 x 2.10 6.6x8.8 5.28 x 7.04 2.64 x 3.52 2.64 x 3.52 1.78 x 2.10
1/2" 6.0 x 8.0 4.8x6.4 3.2x4.3 2.4x3.2 1.2x1.6 6.0x 8.0 4.8%6.4 3.2x4.3 2.4x3.2 1.2x1.6
1/3" 4.5x6.0 3.6x4.8 2.4x3.2 1.8x2.4 0.9x1.2 4.5x6.0 3.6x4.8 2.4x3.2 1.8x24 09x12
Wp 66.0mm *2 65.9mm +2 68.9mm +2.1 65.4mm +2 64.5mm +2 66.0mm =2 65.9mm +2 68.9mm +2.1 65.4mm +2 64.5mm +2
MigEES 163.5 172.4 142.6 151.5 150.4 163.5 172.4 142.6 151.5 150.4
ST 9.6 12.1 25 25 28.9 9.6 12.1 25 25 28.9
NA 0.042 0.041 0.030 0.040 0.069 0.042 0.041 0.030 0.040 0.069
KR 1.2 1.0 0.9 0.5 0.1 1.2 1.0 0.9 0.5 0.1
WES-S -0.01% 0.01% 0.008% -0.010% 0.014% -0.01% 0.01% 0.008% -0.01% 0.014%
A 1/1.8" 1/1.8" 1/1.8" 1/1.8" 2/3" 1/1.8" 1/1.8" 1/1.8" 1/1.8" 2/3"
[El4hEREATS = — — - = — Built-in Built-in Built-in Built-in Built-in
=8 42 39 33 37 35 47 44 39 42

32

HOURS

www.hours-web.com



BWD: 110 -120 mm

APT Series

Telecentric Lens

APT08-120

121.9%3. 7 (WD)

72.

4

APT1-11

17.526

113.0£3. 4 (WD) 79.5 17.526_
6.5/4 6.5/4
1.1 3-M3 [Set screw
3-M3 Set screw /
_ - _ A
d ————si— g q ¥ s
C-mount C-mount
211.8(0/D 210.0(0/1)
APT1.5-110 APT2-110
115. 0+3. 5 (WD) 77.5 17.526 110.5£3. 3(WD) 93 17.526
6.5/4 6.5/4
3-M3 Set screw 3-M3 Set screw
o = — o~
T —t—1—#— T et ———®— ¢
C-mount C-mount
210.0(0/D) 221.0(0/1)
APT08-120C APT1-11
121.9+3. 7 (WD) 72.4 17.526_ 113.0=3. 4 (WD) 79.5 17.526,
6.5]4 6.54
3-M3 Set screw 1.1 3-M3 Set screw
- B
© el = =3 (=23
S T e S 8 S T e ¢
| = o S
< % C-mount < -}k C=mouat
L M3 Set screw i M3 Set screw
8 +
$14.2 ’ 28 8.05
) $14.2
42 @16
42 16
211.8(0/D
210.0(0/1)
APT1.5-110C APT2-110C
115.0£3. 5 (WD) 7.5 17.526 110. 523. 3(HD) 93 11. 526,
6.5/4 6.5/4
3-M3 Set screw 3-M3 Set screw
- i g
=3 =3
s - T - 9 S e et 2
) I o) -
| f | I
7 . M3 Set screw C-mount ! M3 Set screw | G-mount
|
I #8790 $8°4%
P14.2 $14.2
30.5 16 30.5 16
210.0(0/1) 221.0(0/1)
APT08-120 APT1-110 APT1.5-110 APT2-110 APT08-120C  APT1-110C APT1.5-110C APT2-110C
plac g 0.8x = 5% 1.0x + 5% 1.5x + 5% 2.0x * 5% 0.8x = 5% 1.0x = 5% 15x = 5% 2.0x *+ 5%
1/1.8" — 2.64 x 3.52 3.52 x 4.69 2.64 x 3.52 — 2.64 x 3.52 3.52 x 4.69 2.64 x 3.52
M 1/2" 6.0 x 8.0 4.8x6.4 3.2x4.3 2.4x3.2 6.0x8.0 4.8x6.4 3.2x4.3 2.4x3.2
1/3" 4.5x 6.0 3.6x4.8 2.4x3.2 1.8x2.4 4.5x6.0 3.6x4.8 2.4%x3.2 1.8x2.4
wo 121.9+3.7 113.0+3.4 115.0+3.5 110.5%+3.3 121.9+3.7 113.0+3.4 1156.0=3.5 110.5+3.3
RIEE R 211.8 210 210 221 211.8 210 210 221
SEHF 17.5 22.7 18.7 24.9 17.5 22.7 18.7 24.9
NA 0.023 0.022 0.040 0.040 0.023 0.022 0.040 0.040
R 2.2 1.8 0.7 0.5 2.2 1.8 0.7 0.5
WES-S 0.017% 0.002% 0.004% -0.002% 0.017% 0.002% 0.004% -0.002%
ATH 1/2" 1/1.8" 1/1.8" 1/1.8" 1/2" 1/1.8" 1/1.8" 1/1.8"
[E4mERRATS - - - — Built-in Built-in Built-in Built-in
=B 36 37 34 37 42 42 39 42

HOURS 33

www.hours-web.com



ens

VS-TC Series

VS-TC Series

34

IWD:40mm

VS-TC1.5-40

VS-TC3-40-LD

39. 341 (WD) 57 17.526, 39. 51 (WD) 39 17.526, 37.21(WD) 53.2 17.526,
6.5(4 6.5/4 6.5/4
3-M3 Set screw 3-M3 Set screw 3-M3 Set screw
3 3 3 5
T - - g — g I
L L ¥
C-mount C-mount G-mount
113.8(0/1) 96.0(0/1) 107.9(0/T)
TC4-40 VS-TC6-40-LD C8-40-LD
39. 61 (WD) 45.9 17.526, 39-+1(WD) 60.7 17.526, 38. 71 (WD) 75.3 17.526,
6.5/4 6.5/4 6.5/4
3-M3 Set screw 3-M3 Set screw 3-M3 Bet screw
S0 AL s 2 = e B
SI ‘\‘ | | s 8| S T . ¥ T 2 s [ . ’*’*¢”* i
< K =
G-mount C-mount C-mount
103.0(041) 117.2(0/1) 131.5(00 )
VS-TC1.5-40CO VS-TC2-40CO C3-40CO-LD
39.3+1(WD) 57 17. 526, 39.5+1 (WD) 39 17.526 37.21(WD) 53.2 17.526,
6.5/4 6.5/4 6.5/4
3-M3| Set screw 3-M3| Set screw 3-M3| Set_screw
% o5 5
© = P = © =
i R e (R g
i I i i B
o e : o [Iad| LS SR E -
" C-mount : | C-mount n ! C-mount
f N3 Set screw T N3 Set screw | M3 Set screw
Py 8»34 02 ¢8‘8' 02 Py 8’3‘ 02
14.2 $14.2 14.2
21.9 $16 12.9| @16 12.9 | 16
113.8(0/1) 96.0(0:1) 107.9(0/1)
C4-40C0 VS-TC6-40CO-LD VS-TC8-40CO-LD
39. 61 (WD) 45.9 17.526, 39.0=1 (WD) 60.7 17.526, 38.7=1 (WD) 75.3 17.526,
6.5/4 6.5/4 6.5[4
3-M3| Set screw 3-M3| Set screw 3-M3| Set screw
3 7 -
e | | Al 1 = e | _ [ O © I I S Y | S
s e S S| | | hd | s ,7 S
i I i I
S n | hs - [iel n
i 13 Set sorow | G-mount W3 Set sorew i M3 Set screw C-mount
s 3‘8. 02 Iy 8‘8’ 02 @ 8‘8. 02
C-mount
914.2 $14.2 $14.2
12.9 |_&16 12.9.| 16 129 |_ o016
103.0(0/1) 117.2(0/1) 131.5(0/1)
VS-TC1.5-40 VS-TC2-40 VS-TC3-40-LD VS-TC4-40 VS-TC6-40-LD VS-TC8-40-LD
SeEafEER 1.5x £5% 2.0x £5% 3.0x 5% 4.0x 5% 6.0x +5% 8.0x £5%
N 2/3" - - — = — —
(Ifo) 1/2" 3.2 x4.3mm 2.4 x3.2mm 1.6 x 2.1 mm 1.2x 1.6 mm 0.8x 1.1 mm 0.6 x 0.8 mm
1/3" 2.4%3.2mm 1.8 x 2.4 mm 1.2 x 1.6 mm 0.9x 1.2 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 39.3mm *+1 39.5 mm 1 37.2mm _*1 39.6 mm *1 39.0mm *£1 38.7mm *+1
iRIEEE 113.8 mm 96.0 mm 107.9 mm 103.0 mm 117.2 mm 131.5 mm
SERF 1.2 15.0 235 29.4 43.3 57.0
NA 0.067 0.067 0.064 0.068 0.069 0.070
27 AFHEEEC004mm 0.4 mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.07 mm
TVEE 0.00 % 0.00 % 0.00 % 0.00 % 0.00 % 0.00 %
EB¥= (Y=4) 69 % 84 % 100 % 100 % 100 % 100 %
EATE 1/2" 172" 1/2" 172" 12" 172"
RHERBE - = - - — =
EE2 37g 30g 33g 31g 36g 39g
& VS-TC1.5-40CO VS-TC2-40CO VS-TC3-40CO-LD VS-TC4-40CO VS-TC6-40CO-LD VS-TC8-40CO-LD
HeEER 1.5x ¥5% 2.0x 5% 3.0x £5% 4.0x £5% 6.0x £5% 8.0x ¥5%
ms 23 E Y X = = o
(VxH) 1/2"" 3.2x4.3mm 2.4x3.2mm 1.6x2.1Tmm 1.2x 1.6 mm 0.8x 1.1 mm 0.6 x 0.8 mm
113" 2.4x3.2mm 1.8x2.4 mm 1.2x1.6 mm 0.9x1.2mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 39.3mm 1 39.5 mm 1 37.2mm 1 39.6 mm 1 39.0mm %1 38.7mm 1
REEE 113.8 mm 96.0 mm 107.9 mm 103.0 mm 117.2 mm 131.5 mm
SLHF 11.2 15.0 23.5 29.4 43.3 57.0
NA 0.067 0.067 0.064 0.068 0.069 0.070
SR AFEEE0.04mm 0.4 mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.07 mm
TV4HE 0.00 % 0.00 % 0.00 % 0.00 % 0.00 % 0.00 %
BinRE (Y=4) 69 % 84 % 100 % 100 % 100 % 100 %
SEBASH 172" 1/2" 172" 1/2" 1/2" 1/2"
EEERE A = Built-in Built-in Built-in Built-in Built-in Built-in
B8 4249 35¢g 39¢g 38¢g 429 45g

E————
www.hours-web.com



VS-TC Series

IWD:65-70mm

VS-TC1-65-16 VS-TC

65. 42 (WD) 99.6 17. 526, 65. 9==2 (WD) 95.4 17. 526, 69. 52 (WD) 63 17. 526,
50.5 42.6 6.5/4 6.5/4 6.5/4
3-M3| Set screw 3-M3| Set screw 3-M3| Set screw
E _ _ m
i =7 =7
o = © = © =
T e e e e s s s e R
oo < < =
©
S C-mount. C-mount C-mount
182.5(0/1) 178.8(0/1) 150.0(0/1)
66. 7£2 (WD) 63.5 17.526, 65. 322 (WD) 50.3 17.526, 64. 52 (WD) 68.0 17. 526,
6.5/4 6.5/4 6.5/4
3-M3| Set _screw 3-M3| Set screw 3-M3| Set screw
o7 it Rt
© = © = © =
;l 777}>774{77 4777 E 9 7777%777H> 4777 E gl 7777%777H>7 7{ E
G-mount C-mount.
147.70 D 142.100:1) 150.0(0/1)
64. 52 (WD) 73.3 17.526, 64. 32 (WD) 80.7 17.526, 64. 02 (WD) 95.5 17.526,
6.5/4 6.5/4 6.5/4
3-M3| Set_screw 3-M3| Set screw 3-M3| Set screw
e 5 e
° R _ I 5 e J U - - - 5 e O o [ - 5
| ©| ©| - ° 4{ 9|
S -~ 2
C-mount C-mount C-mount
155.3(0/1) 162.5(0/1) 177.000/1)

VS-TC10-65 Mg VS-TC08-65 VS-TC1-65-16 V5-TC1.5-70
1.5x +5%

FFEE 0.8x 5% 1.0x 5%
ne 2/3" - - 4.7 x 5.6 mm
64.8:2 (WD) 110.4 17,526, ( \;ﬂxH ) 1/2" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2 x 4.3 mm
1/3" 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4 x3.2mm
6.54 WD 65.4 mm +2 65.9 mm *2 69.5 mm +2
3-M3| Set screw
MERIEER 182.5 mm 178.8 mm 150.0 mm
SLHF 10.0 14.2 15.6
5 NA 0.040 0.035 0.048
1 S N 1 O IR AVHEE000IM 1.3 mm 1.1 mm 0.6 mm
i M ® TVEE 0.05 % 0.10 % 0.10%
U By (Y=4) 100 % 90 % 90 %
FEAGH 172" 172" 2/3"
oot FIHERRR S 2 - - -
192.7(0/1) £ 729 48¢g 37g

VS-TC2-65 VS-TC3-65 VS-TC4-65 VS-TC5-65 VS-TC6-65 VS-TC8-65 VS-TC10-65
HeEER 2.0x £5% 3.0x *5% 4.0x +5% 5.0x +5% 6.0x +5% 8.0x +5% 10.0x £5%
e 2/3" 3.6 x 4.2 mm 2.4 x 2.8 mm 1.8x 2.1 mm 1.4 x 1.7 mm 1.2x 1.4 mm 0.9 x 1.1 mm 0.7 x 0.8 mm
(VxH) 172" 2.4 x3.2 mm 1.6 x2.1 mm 1.2x 1.6 mm 1.0x 1.3 mm 0.8x 1.1 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
113" 1.8x2.4 mm 1.2x1.6 mm 0.9 x 1.2 mm 0.7 x 1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm 0.4 x 0.5 mm
WD 66.7 mm *+2 65.3mm *2 64.5 mm *2 64.5mm £2 64.3mm *2 64.0 mm £2 64.8 mm £2
WREEE 147.7 mm 142.1 mm 150.0 mm 155.3 mm 162.5 mm 177.0 mm 192,7 mm
SERF 15.6 22.0 29.1 36.2 43.1 57.1 73.2
NA 0.064 0.068 0.069 0.069 0.070 0.070 0.068
SR AFEELE0.04mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.1 mm 0.07 mm 0.06 mm
TVEE 0.04 % 0.04 % -0.01 % 0.00 % 0.00 % 0.00 % 0.00 %
Bix= (Y=4) 90 % 98 % 100 % 100 % 100 % 100 % 100 %
SEATH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
B - = - = = = -
B 40g 38g 38g 419 43g 489 54 g

HOURS *°

www.hours-web.com



TelecentricLens VS-TC Series

-65CO VS-TC1.
65. 42 (WD) 99.6 17.526, 65. 942 (WD) 95.4 17.526, 69. 52 (WD) 63 17.526,
50.5 42.6 6.5/4 6.5/4 6.5[4
3-M3| Set scriew 3-M3| Set screw 3-M3| Set screw
=
e
= 2 = | =
Z - 2 4 - z -
P b 1 T PR M -
I B e
——ft . .-
Tol| - : ST > = el =
0 i '
G it C; it
N3 Set screw : peount | N3 Set screw G-mount | M3 Set screw ot
088 N NE
¢14.2 14.2 14.2
55.5 ®16 22.5 616 25.1 ®16
182.5(0/1) 178.8(0/1) 150.0(0/1)

VS-TC2-65CO VS-TC3-65CO VS-TC4-65CO

66.7::2 (D) 63.5 17.526, 65. 322 (WD) 50.3 17.52, 64.5:£2 (WD) 68 17.526,
6.5/4 6.54 6.54
3-M3| Set screw _3-M3| Set screw 3-M3| Set screw
E d . 2 | . e .
N T T I "_{ 3| s 7 | T 3 3 ’*’}“”f’}*’ - 3
f B 1 B
~ n ~ N g L
| j |
‘ M3 Set sorew C-mount ‘ M3 Set sorew C-mount i w C-mount.
¢s+8,02 @3‘% 02 lﬁs’g'm
14.2 19142 | 0142
22.7 16 23.3 616 23.3 616
147.70/1) 142.10/1) 150.0(0/1)
5-65CO VS-TC6-65CO VS-TC8-65CO
64. 522 (WD) 3.3 17.526, 64. 322 (WD) 80.7 17.526, 64.0:2 (WD) 9.5 17.526,
6.5/4 6.54 6.54
3-03| Set_screw 33| Set_screw 3-H3| Set_screw
. ; 1 1 :
: — g S —br— e Y e
I i I
! ! C-mount
T \8 set soren oot T \8 set soren et T \8 et soren .
¢ﬂ’8’ 02 d)B'g' 02 053'8' 02
23.3 $16 23.3 $16 2.3 $16
155.3(0/1) 162.50;1) 177.000:1)
0-65CO
64. 82 (WD) 110.4 17,526, & VS-TC08-65CO VS-TC1-65C0-16 VS-TC1.5-70CO
6.504 Pl iES 0.8x *5% 1.0x £5% 1.56x +5%
3-M3[ Set screw N 2/3" — = 4.7 x 5.6 mm
(VxH) 172" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3mm
_ 1/3" 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4x3.2 mm
7] _ WD 65.4mm +2 65.9 mm_ +2 69.5 mm £2
3 R 2 WEBIES 182.5 mm 178.8 mm 150.0 mm
SEHF 10.0 14.2 15.6
> NA 0.040 0.035 0.048
C-nount SR AIRERECOIMM 1.3 mm 1.1 mm 0.6 mm
| M3 Set screw TVEE o o o
5850 VE 0.05 % 0.10 % 0.10%
s (Y=4) 100 % 90 % 90 %
|$14.2| EEHA 172" 12" 2/3"
w3 | o Bl paru Built-in Built-in Built-in
8 789 56 g 449
192.7(0/1)
*ﬂﬁ'ﬁ VS-TC2-65CO VS-TC3-65CO VS-TC4-65CO VS-TC5-65CO VS-TC6-65CO VS-TC8-65CO VS-TC10-65CO
SespE 2.0x +5% 3.0x £5% 4.0x £5% 5.0x £5% 6.0x £5% 8.0x £5% 10.0x £5%
0. 5 %
. 2/3" 3.6 x 4.2 mm 2.4 x 2.8 mm 1.8x 2.1 mm 1.4 x 1.7 mm 1.2x 1.4 mm 0.9 x 1.1 mm 0.7 x 0.8 mm
(\?‘jz) 1/2" 2.4 x3.2 mm 1.6 x 2.1 mm 1.2x 1.6 mm 1.0x 1.3 mm 0.8 x 1.1 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
1/3" 1.8 x 2.4 mm 1.2x 1.6 mm 0.9x1.2mm 0.7 x 1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm 0.4 x 0.5 mm
WD 66.7 mm *+2 65.3mm £2 64.5mm 2 64.5 mm 2 643 mm £2 64.0 mm 2 64.8 mm *2
[BEEE 142,1 mm 150.0 mm 155.3 mm 162.5 mm 177.0 mm 192.7 mm
147.7 mm
SCHMF 15.6 22.0 29.1 36.2 43.1 57.1 73.2
NA 0.064 0.068 0.069 0.069 0.070 0.070 0.068
SR AIFEELE®0.04mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.1 mm 0.07 mm 0.06 mm
TVEE 0.04 % 0.04 % -0.01% 0.00 % 0.00 % 0.00 % 0.00 %
Ak (Y=5.5) 90 % 98 % 100 % 100 % 100 % 100 % 100 %
BASH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
iR A Built-in Built-in Built-in Built-in Built-in Built-in Built-in
£ 46 g 429 459 479 499 549 589

36 HOURS

www.hours-web.com



IWD:110-170mm

VS-TC1-110

Telecentric Lens

VS-TC Series

1.5N-110
122,53 (D) 1.8 17,526, 113,03 01D) 19.5 17,526, 112. 03 (D) 80.4 17.526_
6.54
6.5(4 6.5(4
3-M3|Set screw 3-M3| Set screw 3-43 Set sorew
- - M e
s [ o] 3 =
2 5 e 5 > — - -—- - - 3
| - T | - S| 2| T D B 1 S ) )
- = ~
C-mount
C-mount C-mount I
211.8(0/1) . 210.000/1) 209.90/D)
TC2-110-LD -TC3-110 -110-LD
110. 023 (WD) 81.2 17.5626_ 107.52500) 1029 12928, 110.0=3 91.5 17.526_
65l 6.5 (WD)
- 3-M3|Set screw S48 Set. soren 3-M3 Set screw =0
- o _
=3 _ . A I I __{ 5 o3
T : F—F I s s | I B
Comount C-mount .
{p=mount. ~hount
214.7(0/1) 210/ 219.0(0/1) |
| vs-1c5-110 [N VS-TC6-110-LD VS-TC8-110-LD
109,53 100.9 17.526 112,43 114.2 17.526, 112,043 135.1 17.526
(D) (D) (D)
6.5[4 6.5/4 6.54
343 Set screw 3-M3 Set screw 3403 Set screw
7 \ 4 7 g 3 5
S --—-——-——— effﬁz SR e -— 2
Comgunt C-mount C-mount
221.9(0/D) 244,100 1) 264.6(0:1)
ks VS-TC08-120 Vs-TC1-110 VS-TC1.5N-110 VS-TC2-110-LD VS-TC3-110
SERER 0.8x 5% 1.0x £5% 1.5x £5% 2.0x 5% 3.0x £5%
4 2/3" - - - = 2.4 x 2.8 mm
( \;j‘lxﬁH ) 112" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3 mm 2.4x3.2mm 1.6x 2.1 mm
113" 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4 x 3.2 mm 1.8x2.4 mm 1.2x1.6 mm
WD 1225 mm *3 113.0 mm £3 112.0 mm *3 110.0 mm *3 107.3mm *3
WiGaES 211.8 mm 210.0 mm 209.9 mm 2147 mm 227.7 mm
SEMF 18.0 20.0 18.8 24.9 37.5
NA 0.022 0.025 0.040 0.040 0.040
iR AFEALEP0.04mm 2.3 mm 1.6 mm 0.7 mm 0.5 mm 0.3 mm
TVEE 0.10 % 0.00 % 0.02 % 0.00 % 0.10 %
Bin= (Y=4) 90 % 97 % 91 % 100 % 90 %
FBAGH 1/2" 1/2" 1/2" 1/2" 2/3"
[E4mERRE S X - - - - —
R 40g 42g 429 46 g 489
g VS-TC4-110-LD Vs-TC5-110 VS-TC6-110-LD VS-TC8-110-LD
HEER 4.0x *5% 5.0x 5% 6.0x £5% 8.0x £5%
2/3" 1.8x2.1 mm - 1.2x1.4mm 0.9 x 1.1 mm
(VxH) 172" 1.2x 1.6 mm 1.0x 1.3 mm 0.8x 1.1 mm 0.6 x 0.8 mm
1/31" 0.9x1.2mm 0.7 x1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 110.0 mm =+3 109.6 mm 3 1124 mm =*3 112.0 mm *3
YRIEEERE 219.0 mm 227.9 mm 244.1 mm 264.6 mm
SEHF 4.7 51.8 67.3 89.3
NA 0.048 0.048 0.045 0.045
SRR AFHEEEC004mM 0.2 mm 0.2 mm 0.1 mm 0.1 mm
TVEE 0.00 % 0.00 % 0.00 % 0.00 %
N (Y=5.5) 100 % 100 % 100 % 100 %
Py 2/3" 172" 2/3" 2/3"
R4HEREE S = - - - -
] 499 529 549 60 g

HOURS

37

E————
www.hours-web.com



TelecentricLens VS-TC Series

VS-TC08-120CO VS-TC1-110CO VS-TC1.5N-110CO

122. 53 (WD) 7.8 17.526, 113.0£3 (WD) 79.5 17. 526, 112.0£3 (WD) 80.4 17. 526,

6.5/4 6.5/4 6.54
3-M3| Set screw 3-M3| Set screw 3-M3| Set _screw

O
f
i
)
|
31
61681
Il

7 1 4 - T 4 -
P Rt e
: f_ B i I Bl B
N i ﬁ;_ S - ) g_ - - ) ﬁ_ .
U __[C-mount ' I
f 05 St sorow | N3 Set sorew MUt N i sot sora M STOMIE
¢8‘8' 02 (DS‘E'"Z ¢8‘8' 02
14.2 $14.2 $14.2
4.8 816 42 316 421 616
211.8(0/D) 210.0(0/1) 209.9(0/1)
VS-TC2-110CO-LD VS-TC3-110CO VS-TC4-110CO-LD
110.0+3 91.5 17.526,
110.0:3 (D) 81.2 17.526, 107. 33 (WD) 102.9 17.526, o 6.5l4
6.5l4 6.504 3-M3 Set screw
3-M3| Set_screw 3-M3| Set _screw \
= I
: ; i o s { [BRE
E I N I U e L - o 4___ 3
° ‘ | { | ©| ‘\‘ T ‘\‘ S| B H 1
B i = = ﬁ.,
N g < N g < | C-mount
= S = TN T\ Set screw
T \MB Set scren i C-mount T \M3 Set screw  Cmount 4837
6878 #87" 102
9142 14.2 3.2 616
38.2 16 4.1 $16 219.000/D)
214.7(0/1) 227.7(0/1)
VS-TC5-110CO VS-TC6-110CO-LD VS-TC8-110CO-LD
109. 53 100.9 17,526, 112.4+3 114.2 17.526, 11203 135.1 17.526,
(WD) (D) (WD)
6.5/4 6.5/4 6.54
3-M3 Set screw 3-M3 Set screw 3-M3 Set sorew

331

=
P I AR N Y 1 O I et 5 N ,7,7,i,i,i,f¥ I
—‘ hd 9 S __________‘_ - s A ©| ]7
K f & | i
~| n ~ " ~ n
] ; Comount 7 N C-tlount ) N G
T\ Set_sorew T \H3 et screw o T \3_Set_screw
¢B‘8»01 ‘»3’8.02 ¢3'3.02
14.2 14.2 14.2
38.2 316 38.2 $16 38.2 $16
227.90 1) 244.1(0/1) 264.6(0/ 1)
& VS-TC08-120CO VS-TC1-110CO VS-TC1.5N-110CO VS-TC2-110CO-LD VS-TC3-110CO
SR 0.8x £5% 1.0x 5% 1.5x £5% 2.0x £5% 3.0x £5%
” 2/3" - - - — 2.4x2.8mm
(\}%?Ii) 172" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x 4.3 mm 2.4x3.2mm 1.6x2.1mm
11317 4.5 x 6.0 mm 3.6 x4.8 mm 2.4x3.2mm 1.8x2.4 mm 1.2x 1.6 mm
WD 122.5 mm +3 113.0mm =*3 1120 mm *3 110.0 mm =*3 107.3mm *3
YIREIER 211.8 mm 210.0 mm 209.9 mm 214.7 mm 227.7 mm
SEIF 18.0 20.0 18.8 24.9 37.5
NA 0.022 0.025 0.040 0.040 0.040
iR ARFEEE®0.04mm 2.3 mm 1.6 mm 0.7 mm 0.5 mm 0.3 mm
TV&HE 0.10 % 0.00 % 0.02 % 0.00 % 0.10 %
Binyes (Y=4) 90 % 97 % 91% 100 % 90 %
EESH 172" 172" 1/2" 1/2" 2/3"
EHABE A= Built-in Built-in Built-in Built-in Built-in
Ea- 46 g 48g 49g 529 56 g

VS-TC4-110CO-LD VS-TC5-110CO VS-TC6-110CO-LD VS-TC8-110CO-LD

SespfeR 4.0x +5% 5.0x +5% 6.0x 5% 8.0x 5%

213" 1.8x2.1T mm = 1.2x 1.4 mm 0.9 x 1.1 mm
(i/mxgH) 1/2" 1.2x 1.6 mm 1.0x 1.3 mm 0.8x 1.1 mm 0.6 x 0.8 mm

1z 0.9x 1.2 mm 0.7 x 1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 110.0 mm *3 109.5 mm *3 1124 mm £3 112.0 mm £3
WRIEIERS 219.0 mm 227.9 mm 244.1 mm 264.6 mm
SEWF 41.7 51.8 67.3 89.3
NA 0.048 0.048 0.045 0.045
2R AIHEAEC004MM 0.2 mm 0.2 mm 0.1 mm 0.1 mm
TVEE 0.00 % 0.00 % 0.00 % 0.00 %
sz (Y=5.5) 100 % 100 % 100 % 100 %
FBAGH 2/3" 1/2" 2/3" 2/3"
Gkl )z s 5 Built-in Built-in Built-in Built-in
FRv 549 589 60g 66 g

38 HOURS

www.hours-web.com

]
2
5
=3



Telecentric Lens

C06-170-F

VS-TC Series

152, Z(ﬁ)‘r; 82 17. 526, 172, 75D), 9.9 17.526, 172.7:£5 WD) 95.9 17.526
41.3 34.2 6.5[4 55.9 33.5 6.54 55.9 33.5 6.5/4
3-M3| Set screw 3-M3| Set screw 3-M3| Set screw
R _ _ A
o5 =3 =5
= = = 5 2 s
3| D 1 r - 3 | I B h 9| N I ’*{ ’4{ |
© L © Q © <
3 © S
C-mount C-mount C-mount.
251.7(0,1) 286.1(0/1) 286.1(0/1)
VS-TC08-170 VS -150
174. 85 (WD) 117.6 17. 526, 156. 25 (WD) 132.5 17.526,
55 56, 1 6. 5] 55 n 6.5
33| Set screw 3-M3| Set screw
5.2 . = 7
S t————1— 1 3 g gl S T — g
3 ) 3 )
3 C-mount 3 C-mount
309.90/1) 306.2(0/1)
VS-TC05-150CO VS-TC06-170CO
152,254 = 17.526, 172.7:£50) 9.9 17,526 172.7:£50) 9.9 17,526
6.54
3-U3| Setscrew 6.5 6.514
3-M3| Set._screw 3-M3) Set_screw
es? [ I 1 5 f i i i
: IS ; T 3 3 3
2 q 5 4
; | G-nount . e
U3 Set screw f Comount C-mount
5550 N3 Set screw f M3 Set screw f
‘»B’g.l)l ¢B~s,02
14.2
14.2 14.2
163 o18 60.9 816 60.9 616
251.7(0/1)
286.1(0/1) 286.100.1)
VS-TC08-170CO VS-TC1-
174,855 (D) 17.6 17.526 156. 2:£5 (D) 132.5 17,526
6.54 6.5
3413) Set_screw 3-M3, Set screw
5 .5 5 .2
s 9 w 94
EF N A = 18— F Y| R
L ML
£ = i 3 S
J & E‘, C-nount N *7' E o C-mount
& ¢8) o2 S & |8 gz S
18 B\ o
18 41y [\2HB Set sorew 18 o1a,|\2-H0 et soren
309.9(0/D) 306.2(0/1)
*Jmﬁ VS-TC05-150 VS-TC06-170 VS-TC06-170-F15 VS-TC08-170 VSs-TC1-150
Szt 0.5x +5% 0.6x 5% 0.6x 5% 0.8x 5% 1.0x £5%
, 2/3" - - - - -
(\*;l'ﬁ) 1727 9.6 x 12.8 mm = = 6.0 x8.0 mm 48x6.4mm
143" 7.2x9.6 mm 6.0 x 8.0 mm 6.0 x 8.0 mm 4.5 x 6.0 mm 3.6 x4.8 mm
WD 152.2mm £5 172.7 mm *5 172.7 mm £5 174.8 mm *5 156.2 mm *5
YREIEE 251.7 mm 286.1 mm 286.1 mm 309.9 mm 306.2 mm
SERF 12.5 30.0 15.0 13.9 13.0
NA 0.020 0.010 0.020 0.029 0.038
2R AFEEEC0.04mm 4.0 mm 6.7 mm 3.3mm 1.7 mm 1.0 mm
TV&E 0.10 % 0.10 % 0.10 % 0.02 % 0.01 %
BN (Y=3) 90 % 95 % 95 % 99 % 99 %
BASE 12" 113" 13" 172" 172"
BE:EELE Y e - — = — —
ES 769 489 479 72g 78 g
ﬂ)}'ﬁ VS-TC05-150CO VS-TC06-170CO VS-TC06-170CO-F15 Vs-TC08-170CO VS-TC1-150CO
purical-Ed 0.5x *+5% 0.6x *£5% 0.6x 5% 0.8x *+5% 1.0x +5%
2/3" - - - - -
( CW.X%‘H ) 1/2" 9.6 x 12.8 mm — — 6.0 x 8.0 mm 4.8 x 6.4 mm
1/3" 7.2x9.6 mm 6.0 x 8.0 mm 6.0 x 8.0 mm 4.5 x 6.0 mm 3.6 x4.8 mm
WD 152.2 mm_*5 172.7 mm_*5 172.7 mm_£5 174.8 mm_*5 156.2 mm_*5
WREIES 251.7 mm 286.1 mm 286.1 mm 309.9 mm 306.2 mm
SLHF 12.5 30.0 15.0 13.9 13.0
NA 0.020 0.010 0.020 0.029 0.038
RIR AIHEEEC004Mm 4.0 mm 6.7 mm 3.3mm 1.7 mm 1.0 mm
TVEE 0.10 % 0.10 % 0.10 % 0.02 % 0.01 %
B (Y=4) 90 % 95 % 95 % 99 % 99 %
EESH 12" 1/3" 13" 1/2" 172"
REMERIAS Built-in Built-in Built-in Built-in Built-in
58 82g 549 549 78¢g 82g

HOURS °°

E————
www.hours-web.com



TelecentricLens VS-TC Series

IWD:220mm

VS-TC08-220CO 2200510002 146.5 1,526,

10_[4
232. 610 (WD) 136.3 17.526 343 Setscrew
10_]4
303 Set serew -
o3
&
| B P I I 8|
J 3| r K
=]
3 I
| - RN S - 8
g A
. C-mount
| | &
g ™
' | C-mount N M3 Set screw
- (- |
@ TeL ot
i
|
T M3 Set sorew 14.2
¢sos.02
i/} 818
1.2
384.000/1)
7 618

386.4(0/1) C4—220c0
VS'TCZ'zzoco 222.5:10 (WD) 137.8 17. 526,

220.0£10(WD) 163.3 17.526, 38.8 4
10, {4 3-M3|Set screw
3-M3[Set serew 1
o]
=3 o
o; ; — 11T #777 S
2 S S I 4 8
3| | | LR
1 C-mount
! | C-mount
M3 Set screw
ol T
K ! BoS.ﬂZ
e ¢
L M3 Set screw o
‘ PYXhd )
62.6 516
14.2
914.2) 377.8(0/1)
74 @18

waa VS-TC8-220CO
VS-TC6-220C0O 220,810 (WD) 192.9 17.526

93.9 4
221,3+10 (WD) 165.3 17. 526, 3-M3 Set screw.
66.3 4
343/ Set. soren o5
| 3 e T 1 2
) / [
o] .
=) - 1] R | I P S
© 1 # ®) m[ —K— Comount
= T 71 I Set soren
o C-nount e
R " M3 Set screw $14.2
l +0. 02
08¢ 62.6 016
$14.2 431.2(0/1)
62,6 b 16
404.1(0/1)
218,410 (WD), 221.4 17.526,
pinE VS-TC08-220CO VS-TC1-220CO 1224 4
placaliE g 0.8x 5% 1.0x £5% 313 Set. sorew
2/3" - -
)
(3‘)(?) 172" 6.0 x 8.0 mm 4.8 x 6.4 mm | M
1/3" 4.5 x 6.0 mm 3.6 x4.8 mm 7
WD 232.6 mm *10 220.0mm_*10 3 _'_'_'_'_'_'T'_ 1 -
WiREIEE 386.4 mm 384.0 mm |
SEHF 8.0 10.0 - 4
i o
NA 0.050 0.050 4 [Tl 3| Conount
2R AYRRELEP0.04mm 1.0 mm 0.8 mm = e
M3 Set screw
TV&E -0.15 % 0.10 % I o
B (Y=4) 85 % 90% ot
Py 172" 172" 14.2
ERREET = Built-in Built-in 626 16
58 2259 245 g
457.3(0,1)
;ﬂ*ﬁ VS-TC2-220CO VS-TC4-220CO VS-TC6-220CO VS-TC8-220CO VS-TC10-220CO
FFER 2.0x 5% 4.0x +5% 6.0x +5% 8.0x £5% 10.0x £5 %
ne 2/3" - - - - -
(VxH) 1/2" 2.4x3.2mm 1.2x 1.6 mm 0.8x 1.1 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
1/3% 1.8x 2.4 mm 0.9x1.2mm 0.6 x 0.8 mm 0.5 x 0.6 mm 0.4x 0.5 mm
WD 220.0mm *£10 2225 mm £10 221.3mm_*£10 220.8 mm *10 2184 mm £10
WiREIEE 400.8 mm 377.8 mm 404.1 mm 431.2mm 457.3 mm
SCF 20.0 29.4 44.1 58.8 73.5
NA 0.050 0.068 0.068 0.068 0.068
SRIR AVFHEEC004mM 0.4 mm 0.1 mm 0.1mm 0.07 mm 0.06 mm
TVEE 0.10 % 0.10 % 0.10 % 0.10 % 0.10 %
Ain¥= (Y=5.5) 90 % 90 % 90 % 90 % 90 %
EESH 1/2" 1/2" 1/2" 1/2" 172"
EELE Built-in Built-in Built-in Built-in Built-in
B8 270 g 3309 360 g 390 g 420g

40 HOURS

E————
www.hours-web.com



IWD:220mma@p16V)—X

VS-TC2-220-16

VS-TC2-220C0O-16

Telecentric Lens

VS-TC Series

& VS-TC2-220-16 VS-TC2-220C0-16
FFEER 2.0x *5% 2.0x £5%
s 2/3’ — =
220. 010 (WD) 161.4 17.526
s osto 1526 654 (\?—Lxﬁ) 1/2 2.4x3.2mm 2.4x3.2mm
220.0:£10 (WD) 161.4 v 4 miﬂiw 1/3" 1.8 x 2.4 mm 1.8x2.4mm
2t s WD 222.0mm £10 _ 220.0 mm %10
) Sef sorew 05 v s WREER 389.9 mm 398.9 mm
< B I — Tt n s SEHF 435 43.5
[ — +-—-+-—- 3 iy . NA 0.023 0.023
I %_ M3 Set sorew C-mount. SR AVHEAEC0.04mm 0.9 mm 0.9 mm
308,901 pmount _Lpset® TVEE 0.10 % 0.10 %
.00/1) h14.2 s (Y=4) 90 % 90 %
202 =L BETH 112" 12"
398.9(0:1) BE:EEzpako - Built-in
B8 66 g 70g
BWD:300-340mm
VS-TC07-340CO VS-TC1-300CO
g VS-TC07-340CO VS-TC1-300CO
e fEER 0.7x ¥5% 1.0x £5%
340.0£10 (WD) 157.8 17.526 307.3%10 (WD) 180 17.526 . 2/3" —_ =
ME .
39.8 4 61.9 4 (VxH) 1/2 6.9x 9.1mm 4.8 x6.4 mm
313 33 1/3"" 5.1x 6.9mm 3.6 x4.8 mm
Set screw Sqt screw
J - WD 340.0mm_*£10 307.3mm_*+10
< N o  miEEs 5153 mm 504.8 mm
i e — T - S o S = 10.9 15.6
NA 0.032 0.032
Zl Y ~mount .,,] —}:— C-mount 23R AVHELE®0.04mm 1.8 mm 1.2mm
= s Set soren = [0 T set soren TV.RE 0.10% 0.10 %
[T est U lssg Bk (Y= ) 100% 100%
p14.2 p14.2 pea=yinay 172" 1/2"
98 $16 98 616 [ AEBE S = Built-in Built-in
515.3(0/1) 504.8(0/1) s 235g 2659
1 5B 2RI S (M15.5 PO.5 $##0)
[—] 4 [—] 4 =
¢ 16mm JERIGHAELS ¢ 16mm NERHLES
wD wD
f M-Mount } M-Mount

WD40%51
WD65% 51 o o o o o o o o o
WD110§§IJ [®) o (o) o o [e] [e] [e] (o)
EFANERESXELBITLUIRM, Ao BECCDELMEM10.5 PO.SHECEOFELENGERENRMINLED,
BERNEEBERA.
1 S0 EEEYES (M10.5 PO.5 #201) 1 4B S4M10.5 PO.5
WD WD
. IR R I o —
----- S H e e e T e
M10.5x0. 5 M10.5x0. 5
B0 Fl10_
1 DMEESIHFRARX
¢ 12mmEEL0ECEORS ¢ 12mmEEkEORS
LED C-MOUNT . WD LED C-MOUNT
012 012
| |
AT S e e TS
| T 1
o I
= | * LEDiRE :0.3A/12V
I

(s

HOURS #

www.hours-web.com



High Resolution Telecentric Lens /&5 #=im i &k

VS-TCH Series

75.3+2 (WD) 60.5 17.526
%‘Rvjtbg 28.5 25.5 6.5[4
3-M3 Jet screw
iR VS-TCHZZ| R /
. 1
Q|
OZ L0 o
S o o — | - 8
o 2 4{ R
- =
— o
&
S G-mount
153.3 (0/1)
. o _ VS-TCH08-65
KBTCRIIAWDES, 110mmAYELZ AR BRI R ERENHT
70.3+2 (WD) 67 17.526
mOELRY, 2 39.5 6.5|4
3-M3 Set screw
= P ) PN Y VA =g
R R KA RN IA LFERNBEBEEET AERSEKE — ¢
o =
= 2TE] = N === Tl 2ld
L E TR BEEELE EABER TUNESRENER. [ T 1
=|
< >
. N
IWD:65-75mm 8 Cenount
154.8(0/1)
| vs-TcH1-50 [N VS-TCH1-65 VS-TCH1.5-65
53.3 65.0
=3 (WD), 57 17.526 68. 8:2 (WD) 76.9 17.526 +2 (WD) 74.4 17.526
6.5[4 21 49.4 6.5 16.4 51.5 6.54
| 3-M3 303
! Set sprew Setscfew
g I = A = A
o~ I R N __O 0? =3
s © 3 e N S NN ' O I P 4 s
© % © st § =171 1" 1 - "~ ___Q
— o3 S — = ~
C-mount : Count o3
N — g C-moynt
© 9
127.8(0/1) 163.2 (0/1) 156. 9 (0/1)
VS-TCH2-65 VS-TCH3-60
65. 02 (WD) 80.2 17.526, 59. 82 (WD) 111.4 17,526,
13.2 60.5 6.5/4 13.2. 91.7 6.5/4
3M3 Set screw 3-M3 Set screw
VA
] o
o
T i T
T S | A g 18 e “’.i L/ 3
© g S S § N D hd - Ry
& 77
N C-mount NS G-mount
2 -
162.7 0/) 188.7(0/1) e
VS-TCH4-65 VS-TCH6-65
65.0:£2 (D) 105.3 17.526 65.8:£2 (D) 118.4 17.526
22.3 76.5 6.5/4
3-M3|Set screw 2.3 8.6 o5 3-M3 [Set screw
b =2 ] Z
o5 ; ;
S I | O ) A | s Iy / s
s 8 S g8 4+t 1Tttt 2
= - - -
° {_C-mount S C-mount
187.8 (0/1) 201.7 (0/1)
VS-TCHO05-65 VS-TCH08-65 VS-TCH1-50 VS-TCH1-65 VS-TCH1.5-65 VS-TCH2-65 VS-TCH3-60 VS-TCH4-65 VS-TCH6-65
MFER 0.5x +5% 0.8x +5% 1.0x +5% 1.0x +5% 1.5x +5 % 2.0x *5% 3.0x =5% 4.0x +5% 6.0x 5%
M /3" 14.2 x 16.8 mm 8.9 x10.5 mm 7.1 x84 mm 7.1 x84 mm 4.7 x 5.6 mm 3.6 x 4.2 mm 2.4x2.8mm 1.8x 2.1 mm 1.2x 1.4 mm
(\?JXH) 2 9.6 x 12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 4.8 x 6.4 mm 3.2x4.3mm 2.4 x3.2mm 1.6 x2.1 mm 1.2x 1.6 mm 0.8x 1.1 mm
1/3" 7.2x9.6 mm 4.5 x 6.0 mm 3.6 x4.8 mm 3.6 x4.8mm 2.4x3.2mm 1.8x2.4 mm 1.2x1.6 mm 0.9x 1.2 mm 0.6 x 0.8 mm
WD 753 mm *2 70.3mm *2 53.3mm *3 68.8 mm £2 65.0mm £2 65.0mm £2 59.8 mm £2 65.0 mm *£2 65.8 mm *2
WREIEBEO/ 153.3 mm 154.8 mm 127.8 mm 163.2 mm 156.9 mm 162.7 mm 188.7 mm 187.8 mm 201.7 mm
SLRF 9.4 9.6 9.9 9.9 11.8 13.6 20.5 17.9 27.0
NA 0.027 0.042 0.050 0.050 0.064 0.074 0.073 0.112 0.111
SR AUHEEES004mm 3.0 mm 1.2 mm 0.8 mm 0.8 mm 0.4 mm 0.3 mm 0.2 mm 0.09 mm 0.06 mm
TVERE(2/3") 0.02 % 0.01% 0.02 % 0.01% 0.01% 0.03 % 0.01% 0.02 % 0.02 %
Bin¥= (Y=5.5) 94 % 98 % 99 % 99 % 100 % 98 % 99 % 85 % 84 %
Per=yiyan 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
[EhERE X - - - - - - - - -
wHEOR M30.5 P=0.5 M225 P=0.5 - M225 P=0.5 M225 P=0.5 M225 P=0.5 M225 P=0.5 M225 P=0.5 M225 P=0.5
oy 629 58 g 47 g 60 g 60 g 58 g 729 80g 88g

42 HOURS

www.hours-web.com



VS-TCH05-65CO VS-TCH08-65CO

75.3 70. 3=2.(HD) 67 17.526, 93.3
=2 (WD) 60.5 17.526, +3 (WD) 57 17.526,
6.5/4 6.5/4 6.5/4
343 3-M3|Set screw 1
Set sprew -
o o3
=k i 4 F i N e P w1 [ REE
] i I _ __ s o 24 | 11 - A[ 1 8 e - e
e g | b R A hd S \ L
T ] 2
| # u # . = < #* ; C-mount
“H unt _= 7| IS " Qe
, 022 N |4
S \ . 02 S g)\ 402 S f C-mount - [98\[F%%S
108\ 8] S He
H8 \ 2-M3 Set screw B8\ 2-43 set screw 17 14 2243 Set_screw
\2-M3 Set screw \2M3 Set screw
32.5 b14 25.8 14
153.3 (0/1) 154.8(0/1) 127,80/
VS-TCH1-65CO VS-TCH1.5-65CO
68. 8=£2 (WD) 76.9 17. 526, 65. 02 (WD) 74.4 17.526
6.5)4 6.5/4
3-M3 [Set screw 3-M3[Set screw
A A
— e -
o =
2 e I | I I R 4__ 8 M pe S I 0 __4___ 8
e g 1 S o o ] ©
1 T
29| = <
&-H & &5 8
Wom S om
N G it G t
& lsah[42 S fmount & o8\ [Bo2 § © --mount
H8 H8
\.2-M3 Set screw \2-M3 Set screw
25.8 b14 20.9 d14
163.2 (0/1) 156.9 (0/1)
VS-TCH2-65CO VS-TCH3-60CO
65. 0=£2 (WD) 80.2 17. 526 59. 82 (WD) 111.4 17. 526
6.5/4 6.5)4
3-M3|Set screw 3-M3|Set screw
a .
- o =
o ; g
S O (A 7 N {1 e ] s
o g ] hd S e g hd -
I L
i =2 S - 5 = L
$E e ? E 5
I i& +0.022 igg \_C-mount Jl;s g 02 S §$ C-mount
H8 H8
\2-M3 Set screw \2-M3 Set screw
17.7 @14 17.1 P14
162.7 (0/1) 188.7(0/1)
CH4-65CO \'} 6-65CO
65. 02 (WD) 105.3 17.526 65. 82 (WD) 118.4 17. 526
6.5/4 6.5/4
3-M3 [Set screw 3-M3|Set screw
A -
- o - o
o5 =] =3 S
w|  w2d o w| w2l o
U | I e ’# s o § N ‘J’/ s
T 1
= = P L
= 3 = 3
< -é\ i ?:Ii C-mount o $\ i ?j C-mount
&l 98] g 022 = pmotnt &| 8] g 02 e Nnount
H8 H8
\2-M3 Set screw \2-M3 Set screw
26.8 014 26.8 14
187.8 (0/1) 201.7 (0/D

VS-TCH05-65CO  VS-TCH08-65CO  VS-TCH1-50CO0  VS-TCH1-65CO  VS-TCH1.5-65CO  VS-TCH2-65CO  VS-TCH3-60CO  VS-TCH4-65CO VS-TCH6-65CO

FERfER 0.5x £5% 0.8x £5% 1.0x £5% 1.0x £5% 1.5x £5% 2.0x £5% 3.0x £5% 4.0x £5% 6.0x £5%
2/3" 14.2 x 16.8 mm 8.9x 10.5 mm 7.1x8.4 mm 7.1 x 8.4 mm 4.7 x 5.6 mm 3.6 x4.2 mm 2.4x2.8mm 1.8x 2.1 mm 1.2x 1.4 mm
(VxH) 12" 9.6 x 12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 4.8 x 6.4 mm 3.2x4.3 mm 2.4 x 3.2 mm 1.6 x 2.1 mm 1.2x 1.6 mm 0.8x 1.1 mm
113" 7.2 x 9.6 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 3.6 x 4.8 mm 2.4 x3.2 mm 1.8x2.4 mm 1.2x 1.6 mm 0.9 x 1.2 mm 0.6 x 0.8 mm
WD 75.3mm £2 70.3mm £2 53.3mm £3 68.8 mm 2 65.0 mm £2 65.0 mm £2 59.8 mm 2 65.0 mm £2 65.8 mm +2
WREREE O/ 153.3 mm 154.8 mm 127.8 mm 163.2 mm 156.9 mm 162.7 mm 188.7 mm 187.8 mm 201.7 mm
SEF 9.4 9.6 9.9 9.9 11.8 13.6 20.5 17.9 27.0
NA 0.027 0.042 0.050 0.050 0.064 0.074 0.073 0.112 0.111
SR AREEEe004mm 3.0 mm 1.2 mm 0.8 mm 0.8 mm 0.4 mm 0.3 mm 0.2 mm 0.09 mm 0.06 mm
TVKE (2/3") 0.02 % 0.01 % 0.02 % 0.01 % 0.01 % 0.03 % 0.01 % 0.02 % 0.02 %
Bix= (Y=5.5) 94 % 98 % 99 % 99 % 100 % 98 % 99 % 85 % 84 %
Per=vya 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
Bkt y Built-in Built-in Built-in Built-in Built-in Built-in Built-in Built-in Built-in
BEOR M305 P=0.5 M225 P=0.5 M225 P=05 M225 P=05 M225 P=05 M225 P=05 M225 P=05 M225 P=0.5
£ 66g 62g 52g 649 64g 62g 769 84g 92g

HOURS

www.hours-web.com



44

High Resolution Telecentric Lens

IWD:110mm

VS-TCH Series

VS-TCHO05-110

110. 8£5. 5 (WD)

VS-TCHO08-110

128.5 12526, 110.7:£3.3 (D) 128.5 17.526
72.5 49.5 6.5/4
48 74 6,54
U8 el sorew 3-M3|Set_screw
b a
g 2 J < g g
3 T 71 11 9§ +—— - — ] 2
c;" e; S
3 C-mount N G-mount.
256.8 (0/1) 256.7 (0/1)
VS-TCH1-110 VS-T -110
110. 3::3. 3(HD) 129 17.526 110.8:3.3 (D) 128.5 17. 526
33.5 89 6.5/4 32 90 6,54
3-M3|Set screw 3-M3|Set screw
i 7
=z < g
98 +—— 1 ———#¥ 13 88 +——f++————#¥
L b = L | - <
<% %
& 8
< {_C-mount < *{_G-mount
256.8(0/1) 256.8 (0/1)
110. 8-3. 3(WD) 128.5 17.526 103,143, 3(ND) 1747 17,526
29 93 6,54
29 139.2 6.5/4
3H3|Set screw 3-M3|Set screw
= 13 1
3 o 4 s =
Sg —_.——_————t e H-— = al o I N N R U I o 1 8
o 9 S| g A 3
% . L e S
§ C-mount ?z. C-mount
Qe I
8|
256.8 O/1) 295.3(0/1)
VS-TCH4-110 VS-TCH6-110
110, 83, 300) 1285 17,526 110.9:£3. 3 (WD) 141.5 17.526
31 104 6.5/4
32 90 6.5/4 :
313 |set screw 3-M3 | Set screw
= ; I F 1
Pl ¥ - g gt Lo 4L Ml s
'y 4+-—-—t—1—F-—T-—-——-—r-— I o & S|
o = 3 )
8 S C-mount
3| G-mount ® e
256.8 (0/1) 269.9(0/1)
VS-TCH05-110 VS-TCHO08-110 VS-TCH1-110 VS-TCH1.5-110 VS-TCH2-110 VS-TCH3-100 VS-TCH4-110 VS-TCH6-110
SeEAfEER 0.5x £5% 0.8x £5% 1.0x £5% 1.5x 5% 2.0x £5% 3.0x £5% 4.0x £5% 6.0x £5%
n 2/3" 14.2 x 16.8 mm 8.9x 10.5 mm 7.1 x 8.4 mm 4.7 x 5.6 mm 3.6 x4.2 mm 2.4x2.8mm 1.8x 2.1 mm 1.2x 1.4 mm
(VA‘EE‘) 1/2u 9.6 x 12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3 mm 2.4x3.2mm 1.6 x 2.1 mm 1.2x 1.6 mm 0.8x 1.1 mm
457 7.2 x 9.6 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4 x3.2mm 1.8x2.4 mm 1.2x1.6 mm 0.9x1.2mm 0.6 x 0.8 mm
WD 110.8 mm %55 110.7 mm %3.3 110.3 mm 3.3 110.8 mm 3.3 110.8 mm *3.3 103.1 mm £3.3 110.8 mm 3.3 110.9 mm 3.3
Wi&iElEEO/| 256.8 mm 256.7 mm 256.8 mm 256.8 mm 256.8 mm 295.3 mm 256.8 mm 269.9 mm
SEF 9.5 11.0 10.5 12.0 13.5 20.9 22.2 39.3
NA 0.026 0.036 0.048 0.063 0.074 0.072 0.090 0.076
IR AEEEC004mm 3.0 mm 1.4 mm 0.8 mm 0.4 mm 0.3 mm 0.2 mm 0.1 mm 0.09 mm
TVSE (2/3") 0.02 % 0.02 % 0.02 % 0.02 % 0.03 % 0.01 % 0.03 % 0.03 %
Binyt= (Y=5.5) 98 % 99 % 99 % 99 % 95 % 99 % 87 % 87 %
EESH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
BE: itz vaE:Y - - - - - - - -
EEOs M30.5 P=0.5 M27 P=05 M27 P=05 M27 P=0.5 M27 P=0.5 M27 P=05 M27 P=05 M 225 P=0.5
£ 92g 92g 92g 84g 88g 110 g 90 g 90 g

HOURS

E————
www.hours-web.com



High Resolution Telecentric Lens

VS-TCHO05-110CO

VS-TCH Series

-TCH08-110CO

110, 85. 5 (WD) 128.5 17,526 110.7£3.3 (WD) 128.5 17.526,
6.5/4
b 3-M3|Set screw 33| Set srew
R ~
% L | I ]
a9 4 3 2 g | (N I — 7777,7,4,,7 8
S g R c——c—c—cs 19— ri=—= RCan 3l e = S|
L L]
- (el = = S & -
. 7 = 59
IS o [0z i e C-mount Q o)\ 902 e . C-ount
He
H8 2-M3 Set screw
2-M3 Set screw e
71.3 P14 64.8 b14
256.8 (0/1) 256.7 (0/1)
110. 33. 3 (WD) 129 17.526, 110.83. 3 (WD) 128.5 17.526,
6.5/4 6.5/4
3-M3|Set screw 3-M3|Set screw
= < - =] 1
=% & T =5 I [—
gy —4—-— ,,77777777777(”7 8 & 5 4 1L 1l ,,,,7,,f,7,7,¢,,7 8
s = S| S 2 :‘; 3
== L b ]
— H g . — i = .
79| ] o=
<l lo8)\[$ 2 §$ I Comount gl 98|42 Nle {_C-mount
8\ 903 Set sorew H8 ) 9 w3 set s:ew
48 @14 4.5 614
256.8(0/1) 256.8 (0/1)
110.8-£3. 3 (WD) 128.5 17.526, 103. 1£3. 3 (WD) 174.7 17.526,
6.5/4 6.54
3-M3|Set screw 3-M3|Set screw
N = T 9
=5 g (S— o5 1
= s = s
S8 T 77177’7’7’7’7" ]9 SE T I s
PR L
— 4= : <+ 2
| £ 79 Comount
< o8l [32 §$ fComount < o)\ ['g 022 ig I
H8 H8
[\ 2-M3 Set \2-M3 Set
4.5 14 e seren s o ot sorew
256.8 (0/1) 295.3(0/1)
110. 8£3. 3 (WD) 128.5 17. 526, 110.93. 3(WD) 141.5 17.526,
6.5/4 6.5/4
3-M3|Set screw 3-M3|Set screw
R - =
o5 T e
al o & s P ¢ S
q o 4 -— 1] J I DS | I I S (S | N I |4 |1 2
s s s g 5|
i L — i P — I
£l pe= = b=
= m g 022 § © {_C-mount = m g.022 § © {_C-mount
H8 H8
\2-M3 Set screw \2-M3 Set screw
46.5 @14 45.8 P14
256.8 (0/1) 269.9(0/1)

VS-TCH05-110CO H08-110CO  VS-TCH1-110CO  VS-TCH1.5-110CO VS-TCH2-110CO  VS-TCH3-100CO VS-TCH4-110CO VS-TCH6-110CO

il 0.5x £5% 0.8x £5% 1.0x £5% 1.5x £5% 2.0x £5% 3.0x £5% 4.0x £5% 6.0x £5%

2/3" 14.2 x 16.8 mm 8.9 x 10.5 mm 7.1 x 8.4 mm 4.7 x 5.6 mm 3.6 x4.2 mm 2.4x 2.8 mm 1.8x2.1mm 1.2x 1.4 mm
(T;leﬁ) 172" 9.6 x12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3mm 2.4x3.2mm 1.6 x2.1 mm 1.2x1.6 mm 0.8x 1.1 mm

1/3" 7.2x9.6 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4x3.2mm 1.8x 2.4 mm 1.2x 1.6 mm 0.9x1.2mm 0.6 x 0.8 mm
WD 110.8 mm 5.5 110.7 mm £3.3 110.3 mm *3.3 110.8 mm £3.3 110.8 mm £3.3  103.1 mm £3.3 110.8 mm £3.3 110.9 mm 3.3
WHRIEIEEES O/ 256.8 mm 256.7 mm 256.8 mm 256.8 mm 256.8 mm 295.3 mm 256.8 mm 269.9 mm
SEHF 9.5 11.0 10.5 12.0 13.5 20.9 22.2 39.3
NA 0.026 0.036 0.048 0.063 0.074 0.072 0.090 0.076
IR SirEEEC004mm 3.0 mm 1.4 mm 0.8 mm 0.4 mm 0.3mm 0.2 mm 0.1 mm 0.09 mm
TV5E (2/3") 0.02 % 0.02 % 0.02 % 0.02 % 0.03 % 0.01 % 0.03 % 0.03 %
Ain¥t=(Y=5.5) 98 % 99 % 99 % 99 % 95 % 99 % 87 % 87 %
SEASH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
[EEEzh s Built-in Built-in Built-in Built-in Built-in Built-in Built-in Built-in
EEOR M30.5 P=0.5 M27 P=05 M27 P=05 M27 P=0.5 M27 P=05 M27 P=05 M27 P=05 M 225 P=0.5
52 98 g 98 g 96 g 88 g 94 g 114 g 96 g 94 g

HOURS +

www.hours-web.com



Mega Pixel Telecentric Lens

VS-TCM Series [KiIHFE

__vs-Tcmozs-ss [N

EimEa— ~
- BIRIRI200~5001% KRB BT OEL, e
B ‘j; @22 38.9 29.6 13.5_|4
{%._']-L ° 3-M3 Set screw AL
. =/ e —
HERHBERAINSNATIESXILE. ]
- AT g bl o 2
A N 1 | | Y S A
< C-mount
A
164.3(0/1)
BWD:65mm
VS-TCM025-65C0 Vs-TcM075-65/5 [N s 7i075.65C0/s
64. 83 (WD) 82 17.526, 66,32 (WD), 85.9 17,526
T 4
33 Set screw s 66.3:2 (WD) 85.9 17.526, M2.6 Set screw 3403 Bet sorew
3.5 50.4 4
I M2.6 Set screw. 33 |set screw
2 8 8 & 8
© N ____]_ (17 1 = A © T 7-’7 ] |
| |
__‘ T " w0 C-mount ® ] ) ) _l:,_ T H C-mount
o Sl 4 | e
W3 sat ! | S " sot ; Iris ring
et screw 5830 Lis rin C-mount et screw 5550
RALEY 169.7(0/1) |14.2]
48.5 916 51 @16
164.3(0/1) 169.7(0/1)
| vs-Tcw-65/5 [N TCM1-65C0/S VS-TCM2-65/
65.0=2(WD) 95.8 17526,
65.0=21D) 9.8 17.526, 9 s 85.0:£2 (D) 9.8 17.526,
17 49.8 29 4 M2.6 Set screw 3-M3 Set screw 17 49.8 29 4
M2.6 Set screw 3-M3 Set screw ,L M2.6 Set screw 3-M3 [Set screw
8 8 4 f - é _ S
o Y S
g & 44 | & _ S
s 9 b ®| g & 4 J - | I S
< e ©|
~ F—— C-mount
s N ; L&} \dris ring
R - -‘-qu C-mount
|
3 S
178.3(0/D) et sorew 582 178.3(0/D)
$14.2
32.5 ®16
178.3(0/1)
VS-TCM2-65CO/S
65.0:2 (WD) 95.8 17.526,
V2.6 Sot screw 2 4 VS-TCM | VS-TCM VS-TCM | VS-TCM vs TCM VS-TCM
}ﬂjﬁ 025-65 025-65CO | 075-65/S | 075-65CO/S -65/5 2 65/S
- SesfE 0.256x £5% 0.756x *5% 1.0x £5% 2.0x 5%
. 2/3" -
S — N Yl S WEF o0 19.2x 25.6 mm 6.4% 8.5 mm 48X 6.4 mm 2.4x3.2mm
Y (VxH) o, 144 %192 mm 78x6.4mm 3.6 %48 mm T8x 2.4 mm
N WD 648 mm 3 66.3mm £2 66.3mm 2 65.0 mm £2
C-mount YigiE e O/ 164.3 mm 169.7 mm 179.9 mm 178.3 mm
3 \Iris ring SEF 37 5.0 62 6.6
aMSetscrew  NA 0.034 0.076 0.081 0.152
e SR AR E0004mM 4.7 mm 0.7 mm 0.5 mm 0.1 mm
13 Set screw7 {eeo TVAE (1/27) 0.05 % 0.05 % 0.05 % 0.10 %
EAE 172" 172" 172" 172"
32.5 316 RS = — Built-in = Built-in — ! Built-in — : Built-in
178.3(0/1) 58 195 g 195 g 146 g 148 g 1559 160 g 200 g 210g
BWD:110-335mm
VS-TCMO01-180/S
104
183. 56 (WD) 189 17. 526, /,/— ‘\‘ -1
66.5 132.5 4
. AN\ H
— _ 444 P-0.7 Y6 AN s A
= ] I I VS-TCM01-180/S f N S !
N S _0ax 5% 4 i
, /1.8"  54.0x71.0 mm \ . 2
M 420 a8.0x640mm N\, | ™
(VxH) I X533 mm N\ N il
< - | 173" 36.0 x 48.0 mm 2
|z ] o WD 183.5 mm £6 ) -
SERIE B i - - 4: = — ¥g EEE0 390.0 mm HHE!
- 1 Esiy 5.6
H NA 0.009
343 Set sorew | C-mount SR AFEEEC004M 44.8 mm 1
TVERE (1/1.8") 0.01% T |
| BABA 118" o i )
I L S T T mmsR = 79 | ]
g BBOE M112 P=1.0 | g
390.0(0/1) Eo=y 940 g o

46

HOURS

www.hours-web.com



Mega Pixel Telecentric Lens VS-TCM Series

BWD:110-335mm

VS-TCMO017-110

1135, 5 (WD)

9.5 17.526,
130. 84 (WD) 144 17,526
27 34 36.5 4
80.5 63.5 4
1| 2.5 7
2x3-M4 ZH6 3-M3 Set screw
| S-H8 Set sorew
— M2 Lock scre
_o® i M e
o i = g b M
= = o
I S B e SN (Y 71 SE [
& } S g ] ® by
@ =
AN = 2
| C-mount. —
G-mount
2(180°)~h57754
228.0(0:1)
292.3(0/1)
VS-TCMO017-110CO
11325, 5 (D) 97.5 11.526,
27 34 36.5 4 i VS-TCM017-110 VS-TCM017-110CO VS-TCM019-130/S
1| 125 7 HREE 0.17x *5% 0.17x *5% 0.19x *5%
2x3-W4 46 3-N3 Set sorew 213" - — 37.4x44.2 mm
/ MEF W
(VxH) 1/1.8 31.8 x41.8 mm 31.8 x41.8 mm 28.4x37.4 mm
172" 28.2 x 37.6 mm 28.2 x 37.6 mm 25.3 x 33.7. mm
1/3" 21.2 x 28.2 mm 21.2 x 28.2 mm 18.9 x 25.3 mm
-8 / 7 wD 113.0mm *55 113.0 mm *+55 130.8 mm *4
3 2 AN nn. o = WIRIAEBO/ 228.0 mm 228.0 mm 292.3 mm
I I I R ] I T 1 1 I = SEXF 4.0 4.0 43
, ¥ NA 0.021 0.021 0.022
<
- BIR AYFEEEC004mm 11.1 mm 11.1 mm 9.5 mm
~ [Ted N lemount TVEKHE (1/1.8") 0.02 % 0.02% -0.01%
I e EATH 718" 718" 273
L)y - Built-in —
2(180°)-M577542 M3 Set screw 68302 EBOR M67 P=0.75 M67 P=0.75 M72 P=0.756
$16 B8 380 g 390 g 410g
228.00/D)
VS-TCMO022-110-1/1.8" VS-TCM022-150/S
112,55, 5 (WD) 112 17526,
56.7 32.5 2 |4 154.0£7.5 (WD) 108.5 17.526
— ‘ 41.5 38 23 |4
— 3-M3 Set screw
L M2.6 Set Screw
3-M3 |Set screw
18 f——— ot g
= s G-mount . -
— © g 4 ——r— 1% -— 3
241.2(0/1) /
C-mount
2(180° ) -rh467342 / 5 Iris ring
2(180° )-M4 iF46
30
280.0(0-1)
VS-TCM022-110CO-1/1.8"
112.5:£5.5 (D) 11.2 17.526, VS-TCM VS-TCM
Mg 022-110-1/1.8" 022-110€0-1/1.8" VS-TCM022-150/S
4
r HFfEER 0.22x £5% 0.22x £5% 0.22x *£5%
] 3M3 Set screw 213" - = 32.3x38.2mm
2] e 1/1.8" 24.5 x 32.3 mm 24.5x32.3 mm 24.5 x32.3 mm
g (\fo) 12" 21.8x 29.1 mm 21.8x29.1 mm 21.8x29.1 mm
© 2 o
B B ¢ —T - g 173" 16.4x 21.8 mm 16.4x 21.8 mm 16.4 x 21.8 mm
WD 112.5 mm *5.5 1125 mm *£5.5 154.0 mm £7.5
= WREEE O/ 241.2 mm 241.2 mm 280 mm
— < C-mount SCF 5.6 5.6 5.5
NA 0.020 0.020 0.020
M3 Set screw, SR AUHEAEC0.04mm 9.3 mm 9.3 mm 9.1 mm
p8d % TVE (1/1.8") 0.05 % 0.05 % 0.02 %
14.2 EATH 1/1.8" 1/1.8" 2/3"
69.2 ®16 LELEDE:o - Built-in -
241.2(0/D EEOf M55 P=0.756 M55 P=0.75 —
B8 380 g 380g 360 g

HOURS #

www.hours-web.com



Mega Pixel Telecentric Lens

VS-TCM Series

VS-TCM025-150 VS-TCM025-150/S

153

yAUD)

98.2 11526 153,07 (WD) 98.2 17.526,
48.5 20.5 20.2__|4 48.5 49.7 4
A-f L6 16
343 Set sorew 3-H3 Set sorew
|38 Sst sorew
= o
3 - —-—-— - S SR S -8
S
§ [C-mount. C-mount
M2.6 Set Screw Iris ring
268.7(0 1) 268.7(0/1)
153,07 (WD) 98.2 17. 526,
N L
1lse 153, 45 (WD) 119 17.526,
3-M3 Set screw 41.5 71.5 4
3-M3|Set screw
= A NE
1 — 1T e 2 . .
I b o5
S 20g 4 L1 JE (e g | 3
4 Rt = B
S -
%} ; C-mount
| S
f
W3 Set screw ‘ Y —
$14.2 289.9(0 1)
58 16
268.7(0/1)
153. 45 (WD) 119 17. 526
4 249.37. 5 (WD) 132.2 17.526,
4
3-M3|Set screw
" 3-M3 Set screw
i ! R 0
T / 8 i ; -
a4 7 oo [
- = Pd L
I8 —4— _;LR'_"_'_" - T g 2 g R - - E
3 I
T
0. = -
L ==
e e
N
u3 et soren /| | 88| 3% Genount s |C-mount
HE
50.5 614, 399.0(0/1)
289.9(0/1)
249.3:7.5(WD) 132.2 17.526,
3552211 (WD) 192.5 17,526,
4
51.5
3-M3 Set screw
o o -
o=
=9 & ®
- ®
g8 +——— — et = 51
18 | i
o - L
o =
o
= ! gﬁ C-mount.
N PR g 2| Comount
H8 |\ 2-M3 Set screw
70.7 b4 565.0(0/1)
399.0(0/1)

VS-TCM025-150 VS-TCM025-150/S VS-TCM025-150CO

VS-TCM03-150

VS-TCM03-150CO

48

VS-TCM1-250/S VS-TCM1-250CO/S VS-TCM1-355/S
piec 2 S 0.25x 5% 0.25x 5% 0.25x *+5% 0.3x 5% 0.3x £5% 1.0x £5% 1.0x £5% 1.0x
2/3" — — — 23.7 x 28.0 mm 23.7 x28.0 mm 7.1x 8.4 mm 7.1 x 8.4 mm =
MEF 1/1.8" - — — 18.0 x 23.7 mm 18.0 x 23.7 mm 5.4x 7.1 mm 5.4x 7.1 mm 5.28 x 7.04 mm
(VxH) 127 19.2 x 25.6 mm 19.2 x 25.6 mm 19.2 x 25.6 mm 16.0 x 21.3 mm 16.0 x 21.3 mm 4.8 x 6.4 mm 4.8 x6.4mm 48x6.4mm
143" 14.4 x 19.2 mm 14.4 x 19.2 mm 14.4 x 19.2 mm 12.0 x 16.0 mm 12.0 x 16.0 mm 3.6 x 4.8 mm 3.6 x 4.8 mm 3.6 x 4.8 mm
WD 153.0 mm *7 153.0 mm *7 153.0 mm *+7 1534 mm £5 153.4mm £5 249.3mm 7.5 249.3 mm £7.5 355.0mm £11
WHRIBEER O/ 268.7 mm 268.7 mm 268.7 mm 289.9 mm 289.9 mm 399.0 mm 399.0 mm 565.0 mm
SEXMF 3.9 3.9 3.9 7.5 75 10.0 10.0 75
NA 0.032 0.032 0.032 0.020 0.020 0.050 0.050 0.067
IR AVEEEC00AMM 5.0 mm 5.0 mm 5.0 mm 6.7 mm 6.7 mm 0.8 mm 0.8 mm 0.6 mm
TVER (1/2) 0.05 % 0.05 % 0.05 % 0.03 % 0.03 % 0.00 % 0.00 % 0.05 %
BATE 1/2" 1/2" 1/2" 2/3" 2/3" 2/3" 2/3" 1/1.8"
RS - — Built-in = Built-in = Built-in =
EEOR — — — M46 P=0.75 M46 P=0.75 M43 P=0.75 M43 P=0.75 M55 P=0.75
] 250 g 250 g 260 g 225 g 225 g 2209 230g 240 g

HOURS

E————
www.hours-web.com



111" (KEEBhRA)

Mega Pixel Telecentric Lens

VS-TCM Series

VS-TCMO03-130/S TGS L VS-TCMO04-100/S iz RSk
130.2=4(1D) 192.5 17.526 95.2:+3(10) 166.9 17,526,
13 42 41.5 36 4 58. 1 82.3 6.5 _|4
I M2 |Lock sorew
M3 Set screw 3-M3Set_sorew
©| ] -
oq - _
18— T e O SO 1 N N NS S 1 P S PO S | R P
S ; I
2 | c-mount -
© 2 C-mount
o B
— Sl a020m 219.60/1)
VS-TCMO05-130/S Pl VS-TCMO07-150/S Wiz Rk
132, 9:+401D) 189.5 17,526, 150.8:£4. 5 (D) 205.5 17.526,
50.5 80 59 4 ) 18.5 87 4
. M2 Lock sorew M2 Lock screw
)| :" ] = = ) |
5 g B 50
g g 4-—-—-—- — = o —-—-—-— oft-— ¥ = B T T T TE T T
S 1
- C-mount — o 2
o B
S a0 ° 373.8(0/1) .
CM1-130/S Wiz Ok VS-TCM3-50CO
131. 524 (D) 261.5 11,526, 53.92.51D) us.5 12.526
21 9 2% 114.5 4 9.824
M2 Lock screw I
. 2 g o —— it — 3
= '; M
= I . i (|
S8 T 1 -+—-t-+-—— - — - — - —-—1let— < J oo 3-M3 Set sorew/ o
] [ Lo o
< | C-mount
— \ M3 Set screw " est
2 5 — $14.2
° a0son S - 349 o1t
186.9(0/1)
VS-TCM VS-TCM5-50CO
52.4+2.5 133.3 17. 526, 51.5£2.5 150.9 17.526,
(WD) (WD)
i 3-M3 Set screw 0.1 ot
g At g 8 | &
|
I 3-M3 Set screw < R - ) :
5 <l < |
G-mount. C-mount
M3 Set screw BN d:_B‘S' 02 M3 Set screw ﬁg»w
14.2
34.9 $16 3.0
203.2(0/D) 219.90/1)
VS-TCM6-50CO VS-TCM7-50CO
50.9:£2. 5 D) 168.7 17.526, 50.4:£2. 501D 186.6 17.526,
58.5 6.54 76.4 6.5/4
g 4——— -t ——— - — - 3 g 4 — L 3
! S a
_:ii_ 3-M3 Set screw - . 3-M3 Set screw w
8 T'_T 3 C-mount. 8 | e s Corount.
| |
M3 Set sorew g0 N3 Set screw NI
14.2 14.2
34.9 $16 34.9 916
23710/ 254.50/1)

VS-TCM03-130/S  VS-TCM04-100/S

VS-TCM05-130/S

VS-TCM07-150/S  VS-TCM1-130/S  VS-TCM3-50CO

VS-TCM4-50CO

VS-TCM5-50CO  VS-TCM6-50CO  VS-TCM7-50CO

KFfER 0.3x £5% 0.4x +5% 0.5x +5% 0.7x 5% 1.0x £5% 3.0x £5% 4.0x £5% 50x £5% 6.0x £5% 7.0x £5%
nE 1"” _375x37.5mm 28.2x282mm__225x225mm __16.1x16.1mm_11.3x11.3mm  3.8x3.8 mm 2.8x2.8mm 2.3x2.3mm 1.9x 1.9 mm 1.6 x 1.6 mm
(V) |28 237x280mm 17.8x21.0mm 142x168mm 101x12.0mm 7.1x84mm _ 24x28mm _ 1.8x21mm _ 14x1.7mm 1.2x14mm __ 1.0x1.2mm
1/2" 16.0x21.3 mm_12.0x16.0 mm 9.6 x 12.8 mm 6.9x9.1 mm 4.8 x 6.4 mm 1.6 x2.1 mm 1.2x 1.6 mm 1.0x 1.3 mm 0.8x 1.1 mm 0.7 x 0.9 mm
WD 130.2mm +4 952 mm +3 1329 mm +4 1508 mm +45 131.5mm *£4 53.9mm *£2.5 524mm *£25 51.5mm *25 50.9mm *£2,5 504mm *2.5
WRIEIEEO/| 340.2 mm 279.6 mm 339.9 mm 373.8 mm 410.5 186.9 mm 203.2 mm 219.9 mm 237.1 mm 254.5 mm
SLHF 5.8 4.0 4.6 5.3 6.3 15.0 20.0 25.0 30.0 35.0
NA 0.026 0.050 0.055 0.066 0.080 0.100 0.100 0.100 0.100 0.100
SR AVFHEHECCO4MM 5.1 mm 2.0 mm 1.5 mm 0.9 mm 0.5 mm 0.1 mm 0.1 mm 0.08 mm 0.07 mm 0.06 mm
TV&RE(1") 0.01 % 0.02 % -0.02% 0.01% 0.00% 0.32 % 0.09 % 0.03 % 0.00 % 0.00 %
[bd ©$20 mm $16 mm $18 mm $18 mm ¢18 mm $18.5 mm ®$22 mm ®»22 mm $22 mm $22 mm
Bkl — - - - — Built-in Built-in Built-in Built-in Built-in
REOR M82 P=0.75 = M67 P=0.75 M55 P=0.75 M49 P=0.75 -_— _ _ _— —_—
o 940 g 680 g 720g 580 g 610 g 120 g 132g 148 g 155¢g 160 g

HOURS 4

www.hours-web.com



1" Telecentric Lens, /3t Rz 17 H#HLEE T 08 3k

VS-THV Series [HIE3

A~9E AR MBS FIZ Ok, BIATEREE

WRR R R L E R ZERE, FEFXMERMLHN
“HERER, EEEFRBERLERT, ZEREK,

VS-THVO011-220/S

Wiy

50

222.5(WD)

290 17.526
50 70 1015 135 55 4
4-M4 depth10
E/i—fe% ,,,,,,,,, [ I L
VS-THV05-110/S
326 Set scrow 112,23, 4.4D) 129.5 17.526,
| ‘\ 4
=g N I 8 2 ] T
8 44— L e e e E — i - o
s X W g =< I
= S o g g ) IS N | I I N
1 ® C-mojnt T
| \M2Lodkscrew -
1.3-M3 Set screw M2 Lock screw /- C-mount
259.2(0,1)
Sy —!
z 3
3 530.0(0/1)
VS-THV1-110/S
111.13. 3WD) 131 17.52
VS-THV05-110CO/S M2 Lock screw a5 6.5/4.
112,23, 4(D) 129.5 17.626_ 42 ] |
og| 4
o
28—t e
ol S
= R =
gl g I R | D | I | © | C-mount
3 F ‘ T 259.6(0/1)
q VS-THV2-110/S
C-mount
243 Set screw |, 110,423, 30m) 167 17,526
78.8 N2 Lock screw 88.5 4
259.2(0/1) 3-M3 Set screw ‘
e °
-THV1-110CO/S =10 R T N | O N |
111.1+3. 3(WD) 131 17.526 N
45 6.54 E
M2 Lock screw 343 det screw cg C-mount
- | 204.90/1) ©
= - .
I e e ) I B | . B VS-THVO11-220 & E 2 38
s g |
T Ee 58
o R LR || VS-AD-THVO11 .
Bz sy
3 ! 802 C-mount
36.5 614
259.6(0/1)
VS-THV2-110CO/S
110, 4::3. 3(4D) 167 17.526
M2 Lock screw 88.5 4 g L
3-43 Set screw B
lr.t— o
o T
4 =
g8 T T
|
$f§ e K N
o = 87992 Q; C-mount 1 OI
3 g I E
36.5 G14_|\ 2-M3 Set screw
294.9(0/1) 33 1/4-20UN

VS-THV011-220/S VS-THV05-110/S

VS-THV05-110C0/S

VS-THV1-110/S

VS-THV1-110CO/S VS-THV2-110/S VS-THV2-110CO/S
FFER 0.11x *5% 0.5x 5% 0.5x *5% 1.0x £5% 1.0x £5% 2.0x *5% 2.0x *5%
o 1" 102.4 x 102.4 mm 22.5 x22.5 mm 22.5 x22.5 mm 11.3x 11.3 mm 11.3x11.3 mm 5.6 x 5.6 mm 5.6 x 5.6 mm
(\T/K').(ﬁ) 2/3" 64.5 x 76.4 mm 14.2 x 16.8 mm 14.2 x 16.8 mm 7.1x8.4 mm 7.1 x8.4 mm 3.6 x4.2 mm 3.6 x4.2 mm
1/3" 43.6 x 58.2 mm 9.6 x 12.8 mm 9.6 x 12.8 mm 4.8 x 6.4 mm 4.8 x 6.4 mm 2.4x3.2mm 2.4x3.2mm
WD 222.5 mm 1122 mm 34 112.2mm 34 111.1 mm 3.3 111.1 mm £33 110.4 mm £3.3 110.4 mm £ 3.3
iR iE BEEO/1 530.0 mm 259.2 mm 259.2 mm 259.6 mm 259.6 mm 294.9 mm 294.9 mm
EHF*REEF 5.6 10.0 10.0 10.5 10.5 10.0 10.0
NA 0.010 0.025 0.025 0.048 0.048 0.100 0.100
2R 37.0 mm 3.2mm 3.2 mm 0.8 mm 0.8 mm 0.2 mm 0.2 mm
TVEE (1) 0.01 % -0.02 % -0.02 % 0.02 % 0.02 % 0.02 % 0.02 %
FBAGH 1" 1" 1" 1" 1" 1" 1"
Gk b — - Built-in - Built-in — Built-in
RO — M43 P=0.75 M43 P=0.75 M 30.5 P=0.5 M30.5 P=0.5 M 35,5 P=0.5 M35.5 P=0.5
58 2460 g 146 g 155 g 124 g 128 g 2359 240 g

HOURS

www.hours-web.com



1.1" Telecentric Lens / 345z 117 #8#LE HHE 0 48 3%

1.1" Telecentric Lens VS-THV Series

VS-THV (1.1") Series i [HIE3

F#E12MP 1.1" 3.45um 811
EEERFZA—10/ET
o SAMERTIERE0.5x/0.8x/ 1.0x /2.0x
- ZRVEREEH—10/ET
« BHEHHKAREER
- AAXE

1 WD : 80mm

VS-THV05-80/S

L

VS-THV05-80C0O/S

82.0:2.50) . -
82.0:2.501D) 200.5 17,526 208 17928
8 5.5 61.0 4
8 50.5 61.0 4
W2 Look sorew 343 Set sorew M2 Lodk |sorew
3H3 Set soren
| 5
2| — o I
2 A - 3 g
= s g —T-——- == === -—
3 g
=/ IS N N N | N N A W |
= 213 se -t
U | =] i 't screw
2 N\ Cxtpunt hul 3 l/_
B : g g =
— 7 3 * \
3| | 5874
300.000 1) 159 AL
300.0(0/1)
VS-THV08-80/S VS-THV08-80CO/S
82.0:£2.501D) 200.5 17.526 82.0:£2.50D) 200.5 17.526
81.5 4 8.5 4
12 Lock soran W2 Lock sore
g 5 o4
5 I I I T s
ey =l
g +—1--"———a——{ — — - - —
g g i ]
. ARG
P!
o] Ctount. ‘: 3| 3-M3 Set screw,
B =
3| aM0 set soron N g0z
300.000/1) s 614 )28 Set soren
300.0(0/1)
80.0::2.400D) 202.5 17,526 £0.02.400) 22.5 17.526
6.0 4
6.0 4 12 Lock screw
12 Lock soren 343 Set soren
33 Set sorew i E 2 i
— g 2
E = s g T T T \¢ —
. H
Ry I
g o N SR - A
S8 B | i1 I ;4 + g N\ eaabunt
- lrE g
o M unt |
o5 'bs‘gvm
b 105 ®14_|\ 243 Set sorew
300.0(0/1) 300.000/1)
VS-THV2-80/S VS-THV2-80CO/S
80.0:£2.401D) 225 17,526 80,02, 4(HD) 22.5 17.526
M2 Look sorew 107.5 ‘ W2 Lock sorew 107.5
343 Set soren 343 Set sorew
o g N - g |
g Ny 3= N
S8 T ——r — 7% g —1+——- I _— - -— o —H-—
— ‘ J_”
S =<
E N Cotunt || «w—_l:é - T N Crbunt
< R <
3 <
] e s
45.5 P14
300.000/1) 243 Set soren
300.00,1)

VS-THV05-80/S  VS-THV05-80CO/S VS-THV08-80/S VS-THV08-80CO/S VS-THV1-80/S  VS-THV1-80CO/S  VS-THV2-80/S VS-THV2-80CO/S
FFER 0.5 +5% 0.5x + 5% 0.8x+ 5% 0.8x + 5% 1.0x + 5% 1.0x+ 5% 2.0x+ 5% 2.0x+ 5%
N 14" 20.6 x 28.2mm 20.6 x 28.2mm 12.9x17.6 mm 12.9x 17.6 mm 10.3x14.1 mm 10.3x 14.1 mm 52x7.1mm 52x7.1mm
(ﬁ(ﬁ) " 22.5 % 22.5mm 22.5 % 22.5mm 14.1x 14.1mm 14.4 x 14.4 mm 11.3x11.3mm 11.3x11.3mm 5.6 x 5.6 mm 5.6 x5.6 mm
2/3" 14.2x 16.8 mm 14.2x 16.8 mm 8.9x10.5mm 8.9 x 10.5mm 7.1x84mm 7.1x84mm 3.6x4.2mm 3.6x4.2mm
WD 80.2mm + 2.5 80.2mm + 2.5 80.2mm + 2.5 80.2mm + 2.5 80.0mm +2.4 80.0mm #2.4 80.0mm +2.4 80.0mm +2.4
iR iE BEEO/1 300.0mm 300.0mm 300.0mm 300.0mm 300mm 300mm 300mm 300mm
EHF*REEF 75 7.5 75 75 75 75 75 7.5
NA 0.033 0.033 0.053 0.053 0.067 0.067 0.133 0.133
2R 2.4mm 2.4mm 0.9mm 0.9mm 0.6mm 0.6mm 0.2mm 0.2mm
TVEE (17) 0.01% 0.01% 0.00% 0.00% 0.00% 0.00% 0.04% 0.04%
BEASH 1.1" 1.1" 1.1" 1.1" 1.1" 11" 1.1" 1.1"
BE:EL: b — Built-in — Built-in — Built-in — Built-in
EEOE M52 P=0.75 M52 P=0.75 M40.5 P=0.5 M40.5 P=0.5 M37.5 P=0.5 M37.5 P=0.5 M40.5 P=0.5 M40.5 P=0.5
58 3709 3709 3609 3609 3109 3109 3809 3809

HOURS

www.hours-web.com

51



1.1" Telecentric Lens VS-THV Series

52

I WD :150mm

3LA90/1 (Object to Image) BEEIFIGITH—HE

WD:80mm series  0/1:300mm WD:150mm series  0/1:400mm

£
£
S
8
=
S

VS-THV(1.1) &%), iEERARIMEER, bAFEERA T

VS-THV05-150/S

-THV05-150CO/S

162.0::4.6.01) 230.5 1152 152,024, 64HD) 05 17.526
1 .5 135.0 19 76.5 135.0 4
343 Sot sorew
— M2 Lock screw
19 =3 g
ER 3 o i
3 g g g
s g T 1 ""1—"" 1T
— CHOUNT
— ] <3 T
P g los 4%
g 179.5 914_\ 240 Set screw
400.0(0/1) 400.00°1)
-THV08-150/S
150,04, 5 D) 2325 17.5% 150. 024, 5 ¥ 2.5 12.526
a5 10,54 s 10.5]4
W2 Lock sorew 343 SET SCREW
M2 Lock sorew 343 SET SCREN — |
g - R &_
- R —-—c—-—c—c—cto-d—c—LJ1L s odbe—s=
4 7 I -
D o P asil. | 4
L RiEY £
t R o
3 687322 2l oot
2l cotount S
g 155 @14_| \ 243 Set screw
400.0(0/1) 400.000/1)
150,024,500 s 12,526 150, 0::4. 5HD) 2325 17.526
1.5 144,5 0.5 4
1.5 144.5 70.5 4
M2 Lock
12 Lock sorex ock screw 343 Set screw
34113 Set screu
o . EN
o] i g = "1 '_'_'_'_'_x' “
g 3 %
2 |
e
gl C-HOUNT

633505
N
64141

= ‘ IS
; 400,000°1) 122.5 614 |\ 2-M3 Set sorew
400.0(0/1)
VS-THV2-150/S 0CO/S
152. 0:4:4. 6 (WD) 130, 5. 17.526 152.04. 6 (WD) 230.5 17.526
45.5 15 110.0 4 45,5 15 110.0 4
12 Look scren W2 Lock screw 303 Set sorew
| o 3M3 Set sorew | - om
{5 1 4 1
o7 4 3 g ] S, e — Lol l—ce——o |
14 +——Ht—— — o 17 4 1, *
E 7 i SFLE - B /
- o i g C-HOUNT e% 7&&%“" g CHONT
; 13.8 D14 2-M3 Set screw
400.0(0 1) 400.0(0/1)
g VS-THV05-150/S VS-THV05-150CO/S VS-THV08-150/S VS-THV08-150CO/S VS-THV1-150/S VS-THV1-150CO/S VS-THV2-150/S VS-THV2-150CO/S
SFEER 0.5% +5% 0.5x + 5% 0.8x + 5% 0.8x + 5% 1.0x £ 5% 1.0x+ 5% 2.0x + 5% 2.0x 5%
11" 20.6 x 28.2mm 20.6 x 28.2mm 12.9x 17.6 mm 12.9x 17.6 mm 10.3x 14.1 mm 10.3x 14.1 mm 5.2x7.1mm 5.2x7.1mm
(VxH) 1" 22.5x22.5mm 22.5%22.5mm 14.1x 14.1mm 14.1x 14.1 mm 11.3x11.3mm 11.3x11.3 mm 5.6 x5.6 mm 5.6 x5.6 mm
2/3" 14.2x 16.8 mm 14.2x 16.8 mm 8.9x10.5mm 8.9x10.5mm 7.1x8.4mm 7.1x8.4mm 3.6x4.2mm 3.6x4.2mm
WD 152.0mm + 4.6 152.0mm + 4.6 150.0mm + 4.5 150.0mm + 4.5 150.0mm + 4.5 150.0mm + 4.5 152.0mm + 4.6 152.0mm + 4.6
MiRis BEE O/ 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm
EHFREEF 75 7.5 75 7.5 7.5 7.5 9.2 9.2
NA 0.033 0.033 0.053 0.053 0.067 0.067 0.109 0.109
BN AUHEEEC004mM 2.4mm 2.4mm 0.9mm 0.9mm 0.6mm 0.6mm 0.2mm 0.2mm
TVEE (1) 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% -0.01% -0.01%
EESH 1.1" 1.1" 1.1" 11" 1.1" 1.1" 1.1" 1.1"
BE:EL:bE — Built-in — Built-in — Built-in — Built-in
EEOE M55 P=0.75 M55 P=0.75 M49 P=0.75 M49 P=0.75 M49 P=0.75 M49 P=0.75 M52 P=0.75 M52 P=0.75
58 5009 5009 4809 4809 400g 4009 600 g 600g

HOURS

www.hours-web.com



1.67 um Telecentric Lens,/ s#51.67um{gogim sk

VS-TCT Series

EEBEEERIENTE . l ' I . ' ~

A2 REL1.67umBHUR T D RRE .

VS-TCT05-65CO/S

65. 72 (WD) 96.0 17.526 65. 7-£2 (WD) 96.0 17. 526
I L 3-M3 Set screw I L 3-M3 Set screw
v vy
; — e m|
3 I " < I o
w© 5 o
= E 4 - -] M2 Lok screw | ¢’-/-—-— S 777*7*77746@'%' ¢/,/,,,7
s = o 2 !
L |
| i -
-5
G-mount m| ! |G-mount
| e
179.2(0/1) 56,7 B4 \2-M3 Set screw
179.2(0/1)
VS-TCT08-65/S VS-TCT08-65CO/S
65. 1222 (WD) 96.0 17.526_ 65. 122 (WD) 96.0 17.526_
M2 Lock screw 4 3-M3 Set screw M2 Lock screw 4 3-M3 Set screw
| 33 Set screw
S Lo - I | -
o9l o [ °f ¢ [
4 I & N
gy ] o — | o —
Y © —[
- & <
\ C-mount | N - \ C-mount
- 98]
178.6(0/1) 414 B14 |\ 2-M3 Set screw
178.6(0/1)
VS-TCT1-65/S
66. 02 (WD) 107.0 17. 526, TcT "z‘éﬁu
M2 _Lock screw _. |4 4 5
n [~ | 3-M3 Set screw =— nm
< 7 i A st soren e=IllM
w I —
g 11 —o T -— 3=
I 4 S |I| g
5=l —
C-mount 6 E I" III —— !
190.5(0,1) _ - 2 5X
- [}

BIFAIXILL!

VS-TCT1-65C0/S —a— - em

66. 022 (WD) 107.0 17.526 N
M2 _Lock screw |4
nm 3-)3 Set screw 6
b ] —
i3 | - =
I T T e 1 2 = I =
—
=
| —
L =1
_ =
4 AN a I
C-mount —
] m 5=
\ 2-M3 Set screw -
8.7 14 6 =1
wo.sQ/m N === T T T
*ﬂﬁ VS-TCT05-65/S VS-TCT05-65CO/S VS-TCT08-65/S VS-TCT08-65CO/S VS-TCT1-65/S VS-TCT1-65C0O/S
SEEfER 0.5x £5% 0.5x £5% 0.8x 5% 0.8x £5% 1.0x £5% 1.0x £5%
0 /3" 14.2 x 16.8 mm 14.2 x 16.8 mm 8.9 x 10.5 mm 8.9x10.5 mm 7.1 x8.4 mm 7.1 x8.4 mm
(vxﬁH) 1/2" 9.6 x 12.8 mm 9.6 x 12.8 mm 6.0 x 8.0 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 4.8 x 6.4 mm
1/3" 7.2 x9.6 mm 7.2 x 9.6 mm 4.5 x 6.0 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 3.6 x4.8 mm
WD 65.7 mm 2 65.7 mm £2 65.1 mm +2 65.1 mm *2 66.0 mm *+2 66.0 mm 2
PIRIEEES O/ 179.2 mm 179.2 mm 178.6 mm 178.6 mm 190.5 mm 190.5 mm
SEMF BT 4.5 4.5 4.5 4.5 4.5 4.5
NA 0.056 0.056 0.089 0.089 0.111 0.111
SR AHEEE0.04mm 1.4 mm 1.4 mm 0.6 mm 0.6 mm 0.4 mm 0.4 mm
TVSE (2/3") 0.00% 0.00% 0.00 % 0.00 % 0.00 % 0.00 %
FEETH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
EERES — Built-in = Built-in — Built-in
EEOE M355 P=05 M355 P=05 M34 P=05 M34 P=05 M34 P=05 M34 P=05
a2 205 g 205 g 200 g 200 g 2159 215g

HOURS >3

www.hours-web.com



